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I Analysis of v"’s opinion — negating 125 as a significant nTay vis-a-vis %132 nawnn
a  9"w1: v™M agrees that in the case of N9 MRVN, since 129N is necessary, nawnn invalidates
i Challenge: ™ ruled that anything not on the outer nam does not attach to %12
ii  Answer (X222 73 ’p1> ’7): but he agrees that 10ty yin nawnn will invalidate (‘tho not rendering 519)
1 Reason:y"p from o'now, which aren’t invalidated by nnwb 89w nawnn yet are invalidated by 1019 pin nawnn
2 Question: can this %104 be extended to ypnY yin?
(a) From: nty yin — it cannot, as 111> yin (generally) carries N2 (if it is proper 919)
(b) Perhaps from: nnw% X5w nawnn — but that also applies on a Nna (and 1Mpn? yin does not)
(i) Point: nRom Ny, our points of reference, cannot be brought on a nna
@ii) Or: %" (v. 1) is 15 yin, "wa” (ibid) is ympny yin
b x27 whittling down w™'’s acceptance of the significance of na%n for internal mmay
i If: he holds like his son, that between the o} and altar is considered “nax”, then the only necessary walking —
hence the only 1297 where nawnn could count — is from the door of the o’ in
ii ~ And if- he holds like N> "7 — that the entire floor of the nty is wTpn (for N1a% *212 on w790 BNY), then the only
place where 13970 could count for them is from the door of the %2> (the 5w could be anywhere in the wmp) out
iii ~ And if: he holds that 93>0 nv1Tp and DR NV1TP are one — only from door of 51X out
iv  And if: he holds that the opening has n%& nwy1p, then nawnn has no steps where it counts — only T nowin »131
v And if: he holds that non-pedial na%11 (e.g. handing something over, throwing it) is not n2%n — there is none
II  Discussion re: status of n3%n
a  7aN’s query of XTon ": is 12 NN invalid?
i Answer: no - still w3 — from v. 2
ii ~ Challenge (nww 7): 7t (along with others) who perform np»r ,n3%n ,n%ap - invalidate; XTon " is refuted
1 Question: but he invoked v. 2
2 Answer: the DY didn’t walk the p7, they just held it in place until the p17tn 113 came along and took it
b 9or 11 727's answer: follows dispute 1327/v"; if N3% N is considered an nmay (1317) — invalidates; if not (v™) — doesn’t
i Challenge (»a8): nonw, which is absolutely necessary (= “nmay”), yetis q1a nwa
ii  Defense: nonw is not considered an "nmay”
1 Response: it ought to be, as X711 "1 ruled that nmyT® M8 nVNY is invalid if performed by =t
(a) Reason: v> 727101 Uses MYHR (V17N 1n3) and NpIn (implying it must be done exactly as stated)
2 Defense: nnyIR Ma isn’t nam »w1p, it’s man P11 VTP
(a) Counter: then no'nw should be considered an nTay via ¥'p — if 2”02 "WTp, Vp to Nam VTP
(i) Defense (717 7772 Nw?® “7): as per DY) MRIN — not an NTaY, yet must be done by 113
iii  challenge: walking limbs to ramp, a dispensible nTay, yet must be done by 13 ( per v. 3)
1 answer: where the nmin explicates jn3, it does; where it doesn’t — no 103 needed
(a) challenge: if 2R Na%N, non-essential for N9, requires 113; then 17p that 07 N2%N - 1793 299N — should
(b) support: X" ruled that even w™ agrees that 02108 711 125N
¢ Question: is non-pedial N3 considered n35n (for purposes of 71 9109, NnHYvIA NaWNN)
i Answer: 20 mentioned among 0’108 (of DTN NYap — R:2 MwWN)
1 Implication: 1My, of any sort, is valid, even if he doesn’t move (i.e. hands the o7 over without walking)
2 Rejection: perhaps 2wy means that he moves on his bottom; Tmy is where he walks a bit
ii ~ Answer: from description of noa 127p — 07 handed down line of n»n3 until it reaches namn - valid
1 Rejection: each one may have moved a bit; point of nwn is to teach value of large congregation (v. 4)
iii  Answer: from ruling that if a 793 1713 hands the 07 to a %109, he should return it - that transfer is not a n2%n
1 Modification: may read that the w3 should walk to the nam and take it from him > original n3%1n was valid
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iv  Conclusive answer: R9 quoted 13nv " as ruling that non-pedial n2%1n is not considered na%n
1 Question: can it be repaired or not?
2 Answer: from last ruling — even with modification, how can w3 take it back for np»t
(a) Conclusion: it can be repaired
(b) Rejection: perhaps the 11 is standing further from the narm, in which case this "na%1n” is absolutely unnec-
essary and is reparable
3 Answer:R,p quoted 11Ny " as ruling that %112 89w 13510 is 9108 > can’t be repaired
(a) Challenge (85195 177): 2:3 mwn - if 07 spilled from *53 (after n%1p) and he scooped it up — w2
(i) Implication: the nT's movement (9312 ®Yw) doesn’t invalidate
(if) Block: perhaps the D7 moved away from narn,
1. Challenge: why would it only move in one direction?
a. Answer: could have been sloped, or fell into a hole or been thick (and not moved)
b.  Challenge: why would the Xin teach a rule for such unlikely circumstances?
c.  Further: in x:1 — if 07 fell straight from neck to floor and was scooped up - %102
i.  And:in 1:3, the nwn should’ve stipulated that this is only if it moved away from nam
ii.  Therefore: ®9’s second report is refuted 53712 R5w 1290 can be repaired
I xn regarding scope of dispute 1327/v"1 re: NN
a  Versionl: they only disagree about “small na91” (i.e. transferring w/o moving); agree that “big na%n” (moving) is a
significant nT1ay and na nYo¥ nawvnn
i SN pix: laughed at the xon
1 Explanationl: if so, there can never be nboa nawnn in a 9wn nron (which is bled next to nam)
(@) If: he had the improper nawnn before np*on — too early
(b) And if: he had it afterwards — already done
(i) Provisional answer: he could’ve had improper nawnn from time that o7 left bird until it reached nam
(ii) Proof: nv " asked X1 1 — what would be the ruling if between n7n nRtn and it reaching the nam,
the officiant became a D Yva (e.g. his arm was cut off) and he answered that it would be 502
1. Reason: nrtn and nym of 0T are juxtaposed (7 ®1p")—> part of Nkt is reaching the nam
2 Explanation2 (737 7772 7711 979): they laughed because the dispute is explicitly about “big n2%n”; rather...
b  Version2: they disagree about walking, but agree that “non-pedial n2910” is not a significant nTay
IV Question: if a 7t walks the 7 to the nam, and a 103 takes it back and returns it to nam — is this valid?
a  Dispute: X1’ 21 (7Pt NTIY) Vs. R
i Valid: it can be repaired
ii  Invalid: cannot be repaired
iii  Follow-up question: in a flipped case; if a 103 walked it to nam, then a 71 returned it and brought it back —
1 swx 7 72 2p°® 1. the one (above) who invalidates, would validate and vice-versa
2 n17 even the one who validates above would invalidate here
(a) Reason: it still needs to reach nam (from a 113); even though we could ignore second walking, the next
step invalidates
(b) Comment (»w& “15 82237): this significance of “nMonRY PI¥” (must properly reach) is a dispute 13139/8":
(i) our mwmR™ says any necessary walking is considered n29, any unnecessary walking is not
1. ¥27's comment: all agree that if he got the 07 further from the nam and walked it closer, that is
considered “necessary”; if he got it closer and walked away with it — unnecessary
a. disagreement: if he brought it to the namn and then took it away — is the return trip to the
nam considered na%n
i. 37 consider 1YNRY P (it must reach nam) as a significant consideration
ii. &”r considers it unnecessary as it already arrived there
2. challenge (77ax8): X" gives examples of PI¥w 150 and PIx RHYY
a.  77¥ to bring it close
b.  77¥ 08 to take it away
i.  and: returning it is certainly 77 - no dispute between 1127/8™
3. response (837): if we have an explicitkn»1a that 8™ and 1227 do not disagree — we’ll accept it...
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